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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)

ta.replace (TCT, TDT);

ta = ta.concat (th)

System.out.println (ta) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the code fragment:

public static void main(String[] args) {
int ans;

try {
int num = 10;
int div = 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0; S/ line nl

} catch (Exception e) {
System.out.println("Invalid calculation");

}

System.out.println("Answer =

b

+ ans):; // line n2
}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {
public static wvoid main{String[] args) {

int ans:

try {
int num = 10;
int diw 0
ans = num / div;
catch (ArithmeticException ae) {
ans 0z

} catch (Exception e) {
Quatem. ot . nrintInt"Tnvalid maleuliation”);

[avariab;e ans might not have been initialized
[ ] System.out.println("Answer " + ans); f/line n2

}

et

NEW QUESTION 3
Given the code fragments:
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Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

public String getName () |
recurn name;

public int getAge () {
return age;

Test.java:

public static void checkAge (List<Person> list, Predicate<Person> predicate) |
for (Person p : list) {

if (predicate.test(p)) f{
System.out.println(p.name + " ");

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Person("Charlie”, 40),

new Person("Smith", 38));
/fline nl

Which code fragment, when inserted at line n1, enables the code to print Hank?
A

checkage (ilList, ( ) -> p. get Age ( ) > 40);

checkfAge (1List, Person p -> p.getge( ) > 40);

checkAge (ilist, p -> p.getRhRge ( ) > 40);

checkage (iList, (Person p) -> { p.getARge() > 40; 1}):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 4
Given the code fragment:

public static wvoid main (String[] args) {

String[] arr = (“Hi"”, “How"”, “are”, “You");

List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removeIf((String =) -> (return s.length(}) <= 2;})) {
System.cut.printlni=z + “removed™)”’
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What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 5

Given the code fragment:

public static void main(String[] args) {
int data[]l = {2010, 2013, 2014, 2015, 2014}%;
int key = 2014;

int count = 0;
for (int e: data) {
if (e != key) {

continue;
count++;
}
}
System.out.print (count + " Found");
}
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 6
Which two class definitions fail to compile? (Choose two.)
B

abstract class A3 {
private static int i;
public woid dostuff () {}
public A3(){}

final class Al {
public Al() {}

private class A2 {
private static int 1i;
private A2 () {}

class A4 |
protected static final int 1 = 10;
private R4 () {}

final abstract class A5 {
protected static int i;
volid dosStuff () {}
abstract void dolIt();

A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E

Answer: CD

NEW QUESTION 7
Given the code fragment:

ant ' n [l Bl =

1, 3}, {2, 41}};
for (int i = n.length-1; i >= 0;
for' iant v:3 nlil) 4
System.out.print (vy);

d gy

-\.__] [

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 8
Given the code fragment:
public static voild main(Stringl[] args) |
LRt i = 03
Ik #59 = ke
fors (1l = O 11 3 934 L 34 = 43 & 23 4
System.out.print (i1 + " ") ;

}

What is the result?

A.24

B.0246

C.024

D. Compilation fails

Answer: C

NEW QUESTION 9
Given:
public class App {
int count;
public static void d
System.out.print

isplayMsg() {
ln("Welcome Visit Count: " + count++):; // line nl

}
public static void main(String[] args) {
Zpp.displayMsg();
displayMsg () // line n2
}
What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.

C. Compilation fails at line nl.

D. Welcome Visit Count:0Welcome Visit Count: O
Answer: C

Explanation:
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public class hpp {
int count:
public static wolid displayMsg({) {
8 System.out.printlin{"Welcome Visit Count:
1
public sztatic woid main{String[] args} {
App.displayMsg();
displayMsg();
1
}

NEW QUESTION 10
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

NEW QUESTION 10

Given the code fragment:

public static void main(String[] args) {
LocalDate date = LocalDate.of (2012, 1,
date.plusDays (10) ;
System.out.println(date) ;

i
i

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.

Answer: B

Explanation:

" 4+ count +%#): //line nl

Manjma @ : java version "1.8.0.31"
Java(TV) SE Runtime Environment (build 1.8.0.31-b13)

Java HotSpot(TV) 64-Bit Server W (build 25.31-b87, mixed mode)
» jovac -classpath . :/run_dir/junit-4.12. jar:/run_dir/hamcrest-
ore-1.3. jor:/run_dir/json-simple-1.1.1,jor -d . Main,jova

import java.time,LocalDate;
2 1mport java.time.Month;

4 public class Main { s java -Classpath . :/run_dir/junit-4. 12, jar:/run_dir/hancrest-c
5 public static void main{String[] args) { re-1.3. jar:/run_dir/json-simple-1.1.1.jar Main

b LocalDate date = Localdate.of(2012, 1, 30); 2012-01-30

] date.plusDays(10); I

System,out.printin(date);

5}

0 )

NEW QUESTION 13
Given the code fragment:
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public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |
/4 line nl

}
public String toString(){
return name + ":" + contract +

+ =alary:

}

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 18
Given:
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class B
public wvoid test () {
System.out.println("& ");

class B extends A
public void test () {
System.out.println({"B ");

public class C extends A {
public void test () {
System.out.println{"C ");

public static woid main(String[] args) {

2 bl = new A{);

A b2 = new C{);

A b3 = (B} b2; //1line nl
Ll = (A) b2: //1line nZ2
bl.test ()

b3.test (};

¥
What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 21
Which statement is true about Java byte code?

A. It can run on any platform.

B. It can run on any platform only if it was compiled for that platform.

C. It can run on any platform that has the Java Runtime Environment.

D. It can run on any platform that has a Java compiler.

E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Answer: D
Explanation:
Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes on any platform that has a Java compiler. The

bytecodes can then be run on any implementation of the Java VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

NEW QUESTION 22
Given:
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Base.java:

class Base |
public void test(){
System.out.println("Base ");
}
}

DerivedA.java:

class Derivedl extends Base |
public void test(){
System.out.println("Derivedad ");
}
}

DerivedB.java:

class DerivedB extends Derivedh |
public void test(){
System.out.println("DerivedB ");
}
public static void main(String[] args) {
Base bl = new DerivedB():;
Base b2 = new Deriveda():;
Base b3 = new DeriwvedB () :;
Base b4 = b3;
bl = (Base}) b2;
bl stest{):
bd.test () ;

}

What is the result?

A. BaseDerivedA

B. BaseDerivedB

C. DerivedBDerivedB

D. DerivedBDerivedA

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 23
Given:

class Test |
int al:

public static wvoid doProduct (int a) {

a =a®* a;

public static void doString(String s) {
s.concat (" " + s);

}

public static void main(String[] args) {
Test item = new Test():
item.al = 11;
String sb = "Hello":;

Integer 1 = 10;

doProduct (i) ;

doString(sb) ;

doProduct (1tem.al);

System.out.println(i + " " + sb + " " + item.al):

}

What is the result?

A. 10 Hello Hello 11
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B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 25
Given the code fragment:

public static wvoid main(String[] args) {

}

LocalDate date = LocalDate.of (2012, 1, 30)

-

date.plusDays (10) ;
System.out.println(date);

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 30

Given:

public class Triangle |{

double p, b, h; //line nl
if (area == 0) {
b = 3;
h = 4;
p = 0.5;
area = p * b * h; //1line n2
}
System.out.println("Area is " + area);
i
)
What is the result?
A. Areais 6.0
B. Area is 3.0
C. Compilation fails at line n1
D. Compilation fails at line n2.
Answer: D
NEW QUESTION 34
Given this class:
public class Rectangle {
private doubls length;
private double height;
private doubkle aresa;
public woid setlength (double length) {
this.length = length;
}
public woid setHeight (double height) {

}

static double area;
int b =2; h = 3;

public static void main(Straing[] args)

this.height = height;
}
public wvoid sethrea() {
area = length*height;

r

{

Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?
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A. Call the setArea method at the end of the setHeight method.

B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.

D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.

F. Change the area field to public.

Answer: AE

NEW QUESTION 38
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 42
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 45
Given the code fragment:

LocalDate datel = LecalDate.nowi()

LocalDate data2 = LocalDate.of (B, 20, 2014 ) ;
LocalDate dated

System.out.println("datel = " + datel);
Bystem.out.println("date2 = " + datel):
System.out.println("dated = " + datel);

Assume that the system date is June 20, 2014. What is the result?
A

datel = Z014-06-20
dated = Z014-06-20
date3d = Z014-06-20

datel = 0&/20/2014
date? = 2014-06-20
date3d = Jun 20, =2014

C  Compilation fails.

D Anexception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 47
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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)

ta.replace (TCT, TDT);

ta = ta.concat (th)

System.out.println (ta) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the code fragment:

public static void main(String[] args) {
int ans;

try {
int num = 10;
int div = 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0; S/ line nl

} catch (Exception e) {
System.out.println("Invalid calculation");

}

System.out.println("Answer =

b

+ ans):; // line n2
}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {
public static wvoid main{String[] args) {

int ans:

try {
int num = 10;
int diw 0
ans = num / div;
catch (ArithmeticException ae) {
ans 0z

} catch (Exception e) {
Quatem. ot . nrintInt"Tnvalid maleuliation”);

[avariab;e ans might not have been initialized
[ ] System.out.println("Answer " + ans); f/line n2

}

et

NEW QUESTION 3
Given the code fragments:
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Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

public String getName () |
recurn name;

public int getAge () {
return age;

Test.java:

public static void checkAge (List<Person> list, Predicate<Person> predicate) |
for (Person p : list) {

if (predicate.test(p)) f{
System.out.println(p.name + " ");

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Person("Charlie”, 40),

new Person("Smith", 38));
/fline nl

Which code fragment, when inserted at line n1, enables the code to print Hank?
A

checkage (ilList, ( ) -> p. get Age ( ) > 40);

checkfAge (1List, Person p -> p.getge( ) > 40);

checkAge (ilist, p -> p.getRhRge ( ) > 40);

checkage (iList, (Person p) -> { p.getARge() > 40; 1}):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 4
Given the code fragment:

public static wvoid main (String[] args) {

String[] arr = (“Hi"”, “How"”, “are”, “You");

List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removeIf((String =) -> (return s.length(}) <= 2;})) {
System.cut.printlni=z + “removed™)”’
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What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 5

Given the code fragment:

public static void main(String[] args) {
int data[]l = {2010, 2013, 2014, 2015, 2014}%;
int key = 2014;

int count = 0;
for (int e: data) {
if (e != key) {

continue;
count++;
}
}
System.out.print (count + " Found");
}
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 6
Which two class definitions fail to compile? (Choose two.)
B

abstract class A3 {
private static int i;
public woid dostuff () {}
public A3(){}

final class Al {
public Al() {}

private class A2 {
private static int 1i;
private A2 () {}

class A4 |
protected static final int 1 = 10;
private R4 () {}

final abstract class A5 {
protected static int i;
volid dosStuff () {}
abstract void dolIt();

A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E

Answer: CD

NEW QUESTION 7
Given the code fragment:

ant ' n [l Bl =

1, 3}, {2, 41}};
for (int i = n.length-1; i >= 0;
for' iant v:3 nlil) 4
System.out.print (vy);

d gy

-\.__] [

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 8
Given the code fragment:
public static voild main(Stringl[] args) |
LRt i = 03
Ik #59 = ke
fors (1l = O 11 3 934 L 34 = 43 & 23 4
System.out.print (i1 + " ") ;

}

What is the result?

A.24

B.0246

C.024

D. Compilation fails

Answer: C

NEW QUESTION 9
Given:
public class App {
int count;
public static void d
System.out.print

isplayMsg() {
ln("Welcome Visit Count: " + count++):; // line nl

}
public static void main(String[] args) {
Zpp.displayMsg();
displayMsg () // line n2
}
What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.

C. Compilation fails at line nl.

D. Welcome Visit Count:0Welcome Visit Count: O
Answer: C

Explanation:
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public class hpp {
int count:
public static wolid displayMsg({) {
8 System.out.printlin{"Welcome Visit Count:
1
public sztatic woid main{String[] args} {
App.displayMsg();
displayMsg();
1
}

NEW QUESTION 10
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

NEW QUESTION 10

Given the code fragment:

public static void main(String[] args) {
LocalDate date = LocalDate.of (2012, 1,
date.plusDays (10) ;
System.out.println(date) ;

i
i

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.

Answer: B

Explanation:

" 4+ count +%#): //line nl

Manjma @ : java version "1.8.0.31"
Java(TV) SE Runtime Environment (build 1.8.0.31-b13)

Java HotSpot(TV) 64-Bit Server W (build 25.31-b87, mixed mode)
» jovac -classpath . :/run_dir/junit-4.12. jar:/run_dir/hamcrest-
ore-1.3. jor:/run_dir/json-simple-1.1.1,jor -d . Main,jova

import java.time,LocalDate;
2 1mport java.time.Month;

4 public class Main { s java -Classpath . :/run_dir/junit-4. 12, jar:/run_dir/hancrest-c
5 public static void main{String[] args) { re-1.3. jar:/run_dir/json-simple-1.1.1.jar Main

b LocalDate date = Localdate.of(2012, 1, 30); 2012-01-30

] date.plusDays(10); I

System,out.printin(date);

5}

0 )

NEW QUESTION 13
Given the code fragment:
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public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |
/4 line nl

}
public String toString(){
return name + ":" + contract +

+ =alary:

}

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 18
Given:
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class B
public wvoid test () {
System.out.println("& ");

class B extends A
public void test () {
System.out.println({"B ");

public class C extends A {
public void test () {
System.out.println{"C ");

public static woid main(String[] args) {

2 bl = new A{);

A b2 = new C{);

A b3 = (B} b2; //1line nl
Ll = (A) b2: //1line nZ2
bl.test ()

b3.test (};

¥
What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 21
Which statement is true about Java byte code?

A. It can run on any platform.

B. It can run on any platform only if it was compiled for that platform.

C. It can run on any platform that has the Java Runtime Environment.

D. It can run on any platform that has a Java compiler.

E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Answer: D
Explanation:
Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes on any platform that has a Java compiler. The

bytecodes can then be run on any implementation of the Java VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

NEW QUESTION 22
Given:
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Base.java:

class Base |
public void test(){
System.out.println("Base ");
}
}

DerivedA.java:

class Derivedl extends Base |
public void test(){
System.out.println("Derivedad ");
}
}

DerivedB.java:

class DerivedB extends Derivedh |
public void test(){
System.out.println("DerivedB ");
}
public static void main(String[] args) {
Base bl = new DerivedB():;
Base b2 = new Deriveda():;
Base b3 = new DeriwvedB () :;
Base b4 = b3;
bl = (Base}) b2;
bl stest{):
bd.test () ;

}

What is the result?

A. BaseDerivedA

B. BaseDerivedB

C. DerivedBDerivedB

D. DerivedBDerivedA

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 23
Given:

class Test |
int al:

public static wvoid doProduct (int a) {

a =a®* a;

public static void doString(String s) {
s.concat (" " + s);

}

public static void main(String[] args) {
Test item = new Test():
item.al = 11;
String sb = "Hello":;

Integer 1 = 10;

doProduct (i) ;

doString(sb) ;

doProduct (1tem.al);

System.out.println(i + " " + sb + " " + item.al):

}

What is the result?

A. 10 Hello Hello 11
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B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 25
Given the code fragment:

public static wvoid main(String[] args) {

}

LocalDate date = LocalDate.of (2012, 1, 30)

-

date.plusDays (10) ;
System.out.println(date);

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 30

Given:

public class Triangle |{

double p, b, h; //line nl
if (area == 0) {
b = 3;
h = 4;
p = 0.5;
area = p * b * h; //1line n2
}
System.out.println("Area is " + area);
i
)
What is the result?
A. Areais 6.0
B. Area is 3.0
C. Compilation fails at line n1
D. Compilation fails at line n2.
Answer: D
NEW QUESTION 34
Given this class:
public class Rectangle {
private doubls length;
private double height;
private doubkle aresa;
public woid setlength (double length) {
this.length = length;
}
public woid setHeight (double height) {

}

static double area;
int b =2; h = 3;

public static void main(Straing[] args)

this.height = height;
}
public wvoid sethrea() {
area = length*height;

r

{

Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?
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A. Call the setArea method at the end of the setHeight method.

B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.

D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.

F. Change the area field to public.

Answer: AE

NEW QUESTION 38
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 42
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 45
Given the code fragment:

LocalDate datel = LecalDate.nowi()

LocalDate data2 = LocalDate.of (B, 20, 2014 ) ;
LocalDate dated

System.out.println("datel = " + datel);
Bystem.out.println("date2 = " + datel):
System.out.println("dated = " + datel);

Assume that the system date is June 20, 2014. What is the result?
A

datel = Z014-06-20
dated = Z014-06-20
date3d = Z014-06-20

datel = 0&/20/2014
date? = 2014-06-20
date3d = Jun 20, =2014

C  Compilation fails.

D Anexception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 47
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